N
Np

¢ T
4

Product
Specification
Positioning
Stages




<vr

GMT GLOBAL INC.

uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
=
H
s

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 25*25

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX25-AC-18

MX25-AS-18

MY25-AC-18

MY25-AS-18

Crossed Roller Stages (Feeding Screw Design) | 25*25

Unit : mm
Movement . Allowable .
Table q Feed Travel | “perKknob |Straightness . Weight - Surface
Wil | g AXS | position | Stroke | Rotation | Accuracy L‘Eid;;]g (kg) Material | Einih
(um) (um) g
MX25-AC-18 Central
X-axis . 0.04
MX25-AS-18 255 Side 432 50 3 1 Aluminum | Black
MY25-AC-18 Central | alloy | anodized
XY-axis 0.08
MY25-AS-18 Side

MX25-AC-18 MX25-AS-18
0 10 10 10
8-M2x0.4*5L - 8-M2x0.4*5L
f—1 =1
1Jrreter o | rete
2 oo sepf— tjgl = Jeo o6
= o — —~ @ = S
& ©) & © @ LA A
025 PS1RC-07 025 PS1RC-07
Teoee ! . (@@ k=
o oo 0 H o [00IO) <]
(48.68 ) J (37.93)
20 4-¢2.5*16L
[ |
[ ¢
@]
o [¢)
MY25-AC-18 @ ° § MY25-AS-18
-AC- -AS-
10 .10 MX(Y)25-A-18 10 10
S— 8 -M2x0.4*5L Mounting Dimensions 8-M2x0.4*5L
]
@ gg
2 = ® ° ep =
] b LS oe
PE g © . © e
o — s & o
025
— [% PS1RC-07
&l 3 © J - PS1RC-07
] o
] Eu‘ﬂa o o [H
MY25-AC-18
o ;I o
(4868 ) i

<vr

GMT GLOBAL INC.

uoljeolyoads jonpold

3
o
e
©
@

£

E
2
2
3
s



<vr

GMT GLOBAL INC.

uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
=
H
s

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 30*30

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX30-AC-18

MY30-AC-18

MX30-AS-18

MY30-AS-18

Crossed Roller Stages (Feeding Screw Design) | 30*30

Specification Unit : mm
Movement ) Allowable .
Table f Feed Travel Per Knob | Straightness . Weight ; Surface
ModelNo. | gize | AXS | posiion | Stroke | Rotation | Accuracy | L0adng | Tt | Material | ey
(Hm) (um) (kgf)

MX30-AC-18 Central

X-axis - 0.045
MX30-AS-18 3030 Side 432 50 3 1 Aluminum | Black
MY30-AC-18 Central | alloy | anodized

XY-axis 0.09
MY30-AS-18 Side

<vr

GMT GLOBAL INC.

MX30-AC-18 MX30-AS-18 12 12
12 .12 o0 — e
/(TMZ@A*SL y o<
a = Q a4 ‘] © o
e : - | © 5 Joo
5 N
o oo o ¢ — B:zgl o
o~ [ . nt{ ‘] &
@ . Q)
030 PS1RC-07 030 PS1RC-07
- 00 o0 o0 . @@ 4
o oo L[] ‘;I r] FRIOL® TDI
L ( 54.66 ) ] L (a4ta1) |
24 4-2.5"16L
[ 1
&) €]
¢} O
S o (o)
@) O
MY30-AC-18 MY30-AS-18
@ @
Ht MX(Y)30-A-18 212 oo
M6x1.0 -A- .
.Z 8-M2x0.4*5L Mounting Dimensions T /‘ 8-M2x0.4*5L
‘g‘; @"'(5
5 2 o0 oe .
7 e s a) -
5 .|
030 030
g
0, O [g
PS1RC-07
3 CeC PS1RC-07
( ©O
‘EI S [@0HO q
i 49.43

uoljeolyoads jonpold

3
o
e
©
@

£

E
2
2
3
s




<vr

GMT GLOBAL INC.

uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
=
H
s

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 40*40

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX40-AC-18

MY40-AC-18

MX40-AS-18

MY40-AS-18

Crossed Roller Stages (Feeding Screw Design) | 40*40

Specification Unit - mm
Movement . Allowable A
Table . Feed Travel Per Knob | Straightness P Weight 5 Surface
Model No. Size s Position | Stroke Rotation Accuracy Lo:d;ng (kg) Mttt Finish
(um) (um) (kgf)
MX40-AC-18 Central
MX40-AS-18 B ? o
- ide ’
40*40 165 50 3 Aluminum|  Black
MY40-AC-18 Central alloy | anodized
XY-axis 1.8 0.30
MY40-AS-18 Side

MX40-AC-18

M6x1.0
8-M3x0.5*6L

Eiima=]

MX40-AS-18

16 __ 16 M6x1.0
8-M3x0.5*6L

70.3

040 PS1RC-13 040 PSIRC-13
.
— | ol
| Py ~ e 2 !
(97.15) = L (ears) | 4
7 435
32 $6*3.5L
K T )
S [@ [
T O O O
MY40-AC-18 &) (&) MY40-AS-18
MX(Y)40-A-18
16 __16 M6x1.0 Mounting Dimensions 16 16 M6x1.0
) 8-M3x0.5*6L 8-M3x0.5"6L
| m Jx/
‘e § /ef e ¢ /05
g o /=" ©
B IR
o (@ ) 3 <
—~ 2 o & o 2 (c) ©
® @ b5 [ N
g — ® & 6o
GRYN =8
040 040
——
@)
. @ EE PS1RC-13 & ¥ PS1RC-13
-1
g%’, © @ ° T © @
- o o
[T o oo o [0)(C) |
L (97.15) 12 L (8178 ) 13

<vr

GMT GLOBAL INC.

uoljeolyoads jonpold

3
o
e
©
@

£

E
2
2
3
s



GMT GLOBAL INC.

uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
2
3
s

<vr

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 50*50

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX50-AC-18

MY50-AC-18

MX50-AS-18

MY50-AS-18

Crossed Roller Stages (Feeding Screw Design) | 50*50

Unit : mm
M t
VesE N Table Axis Feed Travel p‘;‘r’?&gﬂ Straightness l-}-llgav;air?le Weight Material Surface
‘| Size Position | Stroke Rotation Accuracy (k f)g (kg) Finish
(um) (um) e
MX50-AC-18 Central
X-axis . 0.22
MX50-AS-18 50°50 Side 65 50 3 4 Aluminum| Black
MY50-AC-18 Central ’ alloy | anodized
XY-axis 0.44
MY50-AS-18 Side

MX50-AC-18 MX50-AS-18
20 20 20 20
12 [12 1212
13 M6x1.0 15 M6x10
8-M2x0.4°41 L 8-M2x0.4%4L
B 6-M3x0.5"6L ‘ " 6-M3x0.5*6L
° @ E
e Ny —
2 & A o &
G R ¢ . «"—ﬂ':j:'j@ o e Q/ﬁEH—
~ = ¢ e |
s gy S oo "
L © 9 ° ®
050 PS1RC-13
gl (e Swcs & —D—EOT PS1RC-13
™ ol 0 G 3 =
(10617 } 9 S
3 4-35 Gl OL® I
r 40 1 ?6"3.5L (67.77) Jm‘
P
@ &
6 0 o
£ [5)
o 0 ©
MY50-AC-18 ® ® MY50-AS-18
20
12[12 MX(Y)50-A-18 2‘1211220
;‘; M6x1.0 Mounting Dimensions % e
8-M2x0.474L 8-M2x0.4*4L
—|-{- 6-M3x0.5°6L —|-|- 6-M3x0.576L
g {/uoset
)
S|y o, T 4
~ = < g
—gl® o © & 0)_°
o S g * o & o
< = @. P «
= e o e
050 050
(]
I @ [B ESlCe \ PSt
1 (=]
39 o, =
s o o
(106.18 ) 12 L (8678 ) 19

<vr

GMT GLOBAL INC.

uoljeolyoads jonpold

3
o
e
©
@

£
E
2
2
3
s



<vr

GMT GLOBAL INC.

uoneoslyoadg jonpold

www.gmtlinear.com

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 60*60

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX60-AC-18

MX60-AS-18

MY60-AC-18

MY60-AS-18

Crossed Roller Stages (Feeding Screw Design) | 60*60

25

2

25
16

-3

(71.3)

©

g

MX60-AS-18

50

16—‘

25
16

16

25

(127.48 )

Specification Unit - mm
Table Feed Travel ’gOVT(megt AowaLle Weight Surface
q er Knoil B N
ModelNo.| g 0 | AXIS | podition | Stroke | Rotation "°ad;"9 kgy | Material | e
(um) (ka)
MX60-AC-18 Central
X-axis - 5 0.25
MX60-AS-18 60°60 Side 65 50 Aluminum | Black
MY60-AC-18 Central alloy | anodized
XY-axis 45 0.52
MY60-AS-18 Side

44.5
40

oo

MX(Y)60-A-18
Mounting Dimensions

PS1RC-13

000 00 00

(117.98 )

10.5

(90.3)

‘ M16x1.0

‘/ / sz?&g:g*&

@ (4
o, ® °M‘3u

©o °e

rel
Y

(903)

MY60-AS-18
25 25
16 | 16 —‘ M16x1.0
t / g’mxg'g 8L
-M4x0.7*%
g © pé
> A2 0
© © g~
© @
© © b 9w
s L, © &
¢©® o O

40

<vr

GMT GLOBAL INC.

uoljeolyoads jonpold

‘ www.gmtlinear.com



uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
2
3
s

<vr

GMT GLOBAL INC.

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis ©

Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 70*70

Crossed Roller Stages

(Feeding Screw

Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX70-AC-18

MY70-AC-18

MX70-AS-18

MY70-AS-18

Specification Unit - mm
Movement . Allowable .
Table ) Feed Travel | perKnob |Straightness P Weight ) Surface
ModelNo.| oy | AXIS | ooition | Stroke | Rotation AC(curz-;cy chzg;;g ka) | Ml Einish
(um) Hm
MX70-AC-18 Central
MX70-AS-18 R 044
-AS- ide .

70770 65 50 3 6 Aluminum |~ Black
MY70-AC-18 Yo Central 088 alloy | anodized
=axis .

MY70-AS-18 Side

Crossed Roller Stages (Feeding Screw Design) | 70*70

MX70-AC-18
30 30
20 | 20
15 15 M16x1.0x6L
/” 8-M3x0.5
4-M4x0.7*8L

MX70-AS-18
30 30
20 | 20
15| 15 M16x1.0x6L
8-M3x0.5
i e 4-Max0.7*8L

(126.18 )

60

O O O O
o )
o o
6 O O ©

MX(Y)70-A-18
Mounting Dimensions

PS1RC-13

MY70-AC-18
30 30
20 | 20
15115, M16x1.0x6L
] 8-M3x0.5
g 4-M4x0.778L
(4-MAX0.78L
o
3 gl
—~ 1w
| o N |
33
~|
5
o70
(@)
©
< o
S| S o oo o
R
{126.18 )

<vr

GMT GLOBAL INC.

MY70-AS-18
30 30
20 20
15 | 15 M16x1.0x6L
8-M3x0.5
= ﬁ 4-M4x0.7*8L
=3 =3
Q| ©|° /g
® ol B
= ® @| ¢F
2
S @ i e < o
. ® ° a8
@ oo %
& @
o70
)| e s [ e
)
<

uoljeolyoads jonpold

3
o
e
©
@

£
E
2
2
3
s



uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
=
H
s

<vr

GMT GLOBAL INC.

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 80*80

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MX80-AC-18

MX80-AS-18

MY80-AC-18

MY80-AS-18

Specification

Crossed Roller Stages (Feeding Screw Design) | 80*80

Unit: mm
Movement f Allowable
Table ) Feed | Travel | PerKnob |Straightness A Weight . Surface
ilocellics Size A Position | Stroke Rotation Accuracy Lozdlng (kg) flaier=y Finish
(um) (um) (kaf)

MX80-AC-18 Central

X-axis - 10 0.5
MX80-AS-18 80480 Side 125 50 3 Aluminum | Black
MY80-AC-18 Central | alloy | anodized

XY-axis 9.5 1
MY80-AS-18 Side

MX80-AC-18 MX80-AS-18
35 35 35 B
%17 M;%ago.ru % 12 ~8-MAX0.7°8L
| /ANE0.TEL | — W ~Z-MAx0.76C
m /Y L bl
JTe ¢ /& ® ¢ @7
TolQ e © = Jeo o
b b 8, N

L (171.18 ) 134
4-@5
70 $8*8.3L
—y
0O o0 ©
° ©
o o
MY80-AC-18 O O © MY80-AS-18
3 35 ® 2@ 09 35 35
M16x1.0
252 | Miedo MX(Y)80-A-18 25 | 25 BMAX0.7°51
L | /amaxo.776L Mounting Dimensions = é‘/ - 4-M4x0.7*6L
° o /] /@] 2 ° o
0 o3 é ©» € Lé 5l
o @ o @:c% S e @
18 loe o g ERE
3 e o o o Z @ o
o e ° o (3
ﬁ g
% 080
- 7’@\ PS1RC-25 ) ° &) PS1RG-25
3 L—é %Eé N o) ]
=== [ —
L (17095 ) I L  142.03 ) o

<vr

GMT GLOBAL INC.

uoljeolyoads jonpold

3
o
e
©
@

£

E
2
2
3
s



<vr

GMT GLOBAL INC.

uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
=
H
s

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 100*100

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

Specification

MX100-AC-18

MY100-AC-18

MX100-AS-18

MY100-AS-18

Crossed Roller Stages (Feeding Screw Design) | 100*100

Unit : mm
Movement
Model No Table Axis Feed Travel pevr Knob | Straightness /-}_Ilggé?:le Weight e Surface
| Size Position | Stroke | Rotation | Accuracy 9 (k) Einielh
(um) (um) (kaf)
MX100-AC-18 Central
NXT00-AS-18 e s 1 07
ide .
100*100 +12.5 50 3 Aluminum Bla(';k
MY100-AC-18 Central alloy anodized
XY-axis 14.3 1.4
MY100-AS-18 Side

MX100-AC-18

45 45
35 35
25| 25

M16x1.5

_‘ —‘ 16-M4x0.7°8L

(111.4)

45
B85
25

|
e|le,/®

45

35

25

MX100-AS-18

MY100-AC-18

45 45
35 35

—‘ M16x1.5

25 25‘ U/ 16-M4x0.7*8L

(202.58 )

45
35

45

35

25 ] 25

(443 )

0100

ee o o oe

M16x1.5

16-M4x0.7*8L

25
35
45

25
85)
45

MX(Y)100-A-18
Mounting Dimensions

@@

PS1RC-25

ji

L (193.18 )

J;{

137.43

MY100-AS-18
= = M16x1.5
35 | 35 _‘
25 | 25 16-M4x0.7°8L
3
@ | o o/| @
o ©
@ ol <7
L3
@ @17 &l v
e o o 2
o .
& €
0100
PS1RC-25
5=
60)
( 150.08 ) |«

<vr

GMT GLOBAL INC.

uoljeolyoads jonpold

3
o
e
©
@

£
E
2
2
3
s



<vr

GMT GLOBAL INC.

uoneosiyoadg jonpold

£
o
&
k<3
Qo
£
E
@
=
H
s

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis ©

Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 120*120

Crossed Roller Stages
(Feeding Screw Design)

© X-Axis and XY-Axis © Aluminum Alloy

MY120-AC-18

Specification

MX120-AC-18

MX120-AS-18

MY 120-AS-18

Unit: mm
Movement
ModelNo. | Teble | a. | Feed | Travel | PerKnob |Siraightness ’T_";’;;?:'e Weight |\, | Surface
| Size Position | Stroke | Rotation | Accuracy 9| (kg) Finish
(um) (um) (kgf)
MX120-AC-18 Central
S Xeaxis [ 20 16

MX120-AS-18 ide .

120120 +125 50 3 | |Aluminum| Black
MY120-AC-18 Central alloy | anodized
XY-axis ——— 18.4 3.2

MY120-AS-18 Side

Crossed Roller Stages (Feeding Screw Design) | 120*120

MX120-AC-18

MX120-AS-18

20-M4x0.7
BEEE o
EERER : o o
.
® © d
g T C
- - [+ [*] [*)
MY120-AC-18 = =
MX(Y)120-A-18
Mounting Dimensions
20-M4x0.7
°
] el -
i SECN R
PEE R ..
> . .
g g « - e
0120
— ()
o) Q
3
- s 1
(213.18 ) Jg‘

173.38

60

20-M4x0.7

GMT GLOBAL INC.

MY 120-AS-18
50 _ 50
45 | 45
35 | 35
25|25 20-M4x0.7
o Il
Syl | - jjj
of 15 9| B
® o o N
) 0|
. N o 2 g
3
Q. @
3
0120
;n‘, PS1RC-25

<vr

uoljeolyoads jonpold

3
o
e
©
@

£
E
2
2
3
s



